5.8  $b_{k} = \{ 13, -13, | 33 \}$   $X [n] = \{ 0 \ for n evu$  $<math>Y [n] = \{ 13, -13, | 33 \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$   $h[n] = \{ 13, 5 [n] - 13, 5 [n-1] + | 3, 5 [n-2] \}$  $h[n] = \{ 13, 5 [n] - 13, 5 [n-2] + | 3, 5 [$ 

 $b_{k} = \{1, 2, 1\}$  y[n] = X[n] + 2X[n-1] + X[n-1]<u>Ex:</u>  $H(e^{-}) = 1 + 2 \cdot e^{-} + e^{-} \cdot w^{2}$  $= e^{-jw} \left( e^{jw} + 2 + e^{-jw} \right)$ = e<sup>-JR</sup>(2+2cosw) phase may nitude (Slap( =- 1) Φ  $Put \quad x[n] = 2 e^{j\pi/4} e^{j\pi n/3}$  $H(e)w) = H(ej.\pi/3) = 7$ = 3. e-jtt/}  $X[n] = \frac{conf}{w_1} \cdot H(e^{jw_1}) + \frac{conf}{w_2} H(e^{jw_1})$  $y[n] = 2 - e^{j\pi/4} - e^{j\pi n/3} - 3 - e^{-j\pi/3}$ 

$$\frac{4}{4} \quad y(m) = 2 \times [m] - 3 \times (n-1) + 2 \times (n-2)$$

$$a \cdot Find \quad \{r \cdot a \quad r \cdot s p \cdot \dots + (c \cdot m) \\ H(e^{j \cdot m}) = 2 - 3 \cdot e^{-j \cdot m} + 2 \cdot e^{-j \cdot m} \\ H(e^{j \cdot m}) = e^{-j \cdot m} \left( 2 \cdot e^{j \cdot m} + 1 \cdot e^{-j \cdot m} - 3 \right)$$

$$= e^{-j \cdot m} \left( 4 \cdot \cos m - 3 \right)$$

$$d \cdot find \quad all \quad - \left( r \cdot e \operatorname{quencies} \quad m \quad o = m + p \cdot m + r \cdot s p \cdot n \right)$$

$$is \quad 2 \cdot a \cdot m = 3$$

$$cos m = \frac{2}{m} \quad m \Rightarrow \pm 0.23 \text{ ff}$$

--

 $\frac{6.5}{9} \quad y[n] = x[n] + 2x[n-1] + x[n-2]$  () Determine the output when in put $<math display="block">x[n] = 10 + 4\cos(\sigma.5\pi n + \pi/4)$   $H(w) = (2 + 2\cosw)e^{-jw}$   $H(w) = (2 + 2\cosw)e^{-jw}$   $H(\sigma) = 4 \qquad H(\pi/2) = 2 \cdot e^{-j\pi/2} \quad H(-\pi) = 2 \cdot e^{j\pi/2}$   $y[n] = 4 + H(\pi/2) \cdot 2 \cdot e^{j\pi/2} \quad H(-\pi) = \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{2} \cdot \frac{1}{2$ 

6.6 
$$y[n] = x[n] - x[n-2]$$
  
(e)  $ff(w) = A - e^{-j2w}$   
 $free, resp. = e^{-jw} (e^{jw} - e^{-jw})$   
 $= e^{-jw} \cdot 2 \cdot e^{j\pi l_2} \cdot sin w$   
(f)  $x[n] = 4 + cos(fn - fn)$   
 $r(a)$   
 $f(a)$   
 $f(f)$   
 $f(a)$   
 $f(f)$   
 $f(f$ 

$$\begin{array}{l} \underbrace{6.7}_{h} & H(e^{jw}) = 1 + 2 \cdot e^{-jw} \\ h \ln 3 = 8 \ln 3 + 28 \ln 3 \end{array} \\ \underbrace{6.7}_{h} & H(e^{jw}) = 2 \cdot e^{-jw} \cos \omega \\ = e^{-jw} \cos \omega \\ = e^{-jw} (e^{jw} + e^{-jw}) \\ = e^{-jw} + e^{-jw} \\ h \ln 3 = 8 \ln - 1 \Biggr] + 8 \ln - h \Biggr] \\ \underbrace{6.8}_{h} & H(e^{jw}) = (1 + e^{-jw}) (1 - e^{j\frac{\pi}{3}} \cdot e^{-jw}) \\ a. Differce Eqn. \\ = (1 + e^{-jw}) (1 - e^{-j\frac{\pi}{3}} \cdot e^{-jw} - e^{j\frac{\pi}{3}} e^{-jw} + e^{-j2w}) \\ = (1 + e^{-jw}) (1 - e^{-jw} + e^{j2w}) \\ = (1 + e^{-jw}) (1 - e^{-jw} + e^{j2w}) \\ = 1 + e^{-j3w} \qquad \text{yen} = x \ln 3 + x \ln 3 \Biggr]$$

 $\frac{7.1}{X_{1}} \times (n] = S(n)$   $\frac{X_{1}(z)}{X_{1}(z)} = 1$   $\sum_{\lambda} (z) = S(n-1)$   $\frac{X_{2}(z)}{X_{1}(z)} = z^{-1} \cdot X_{1}(z)$  +im de(ay property)  $= z^{-1}$   $\sum_{\lambda} (z) = z^{-2} \cdot X_{1}(z)$   $= z^{-2}$ 

 $|X[n] = \sum_{k=0}^{n} X[k] f[n-k]$  $X(7) = \sum x[K] 2^{-k}$ Reminder

d.  $X_{n}[n] = 2 f[n] - 3 f[n-1] + 4 f[n - 3]$  $= 2 - 3 \cdot z^{-1} + 4 \cdot z^{-3}$  7-3  $H(x) = 1 + 5z^{-1} - 3z^{-1} + 7.5z^{-3} + 4z^{-8}$ (G) Tind differs (eqn. Y[n] = X[n] + 5 X(n-1] - 3X[n-2] + 7.5X[n-3] + 4X[n-8](G) when input X[n] = S[n] determine output. h[n] = S[n] + 5S[n-1] - 3S[n-2] + 7.5S[n-3] + 4S[n-8] $3x_{yy} (find h[n])$ 

7.4 
$$y[n] = \frac{1}{3} (x[n] + x[n-1] + x[n-2])$$
  
(a) Determine  $H(n) \rightarrow system function
 $H(n) = \frac{1}{3} + \frac{1}{3} n^{-1} + \frac{1}{3} n^{-2}$   
(b) Not poles  $k \neq cvor$   
 $\frac{1}{2^{k}} (\frac{1}{3} \cdot t^{2} + \frac{1}{3} + \frac{1}{3} + \frac{1}{3}) \rightarrow t = -\frac{1}{2} + \frac{1}{2} \frac{\sqrt{3}}{2}$   
 $y = rot = 0, 0 \rightarrow pole$   
 $= \frac{1}{2} + \frac{1}{3} \frac{\sqrt{3}}{2}$   
 $= 1 e^{\frac{1}{2}} \frac{\sqrt{3}}{2}$   
 $= \frac{1}{3} + \frac{1}{3} e^{-jw} + \frac{1}{3} \cdot e^{-jw} = \frac{1}{3} \cdot e^{-jw} (e^{\frac{jw}{1}} + 1 + e^{-jw})$   
 $= \frac{1}{3} \cdot e^{-jw} (e^{\frac{jw}{1}} + 1 + e^{-jw})$   
(w)  $= e^{-jw} (\frac{2c - sw + 1}{3} + \frac{jw}{3}) = \frac{1}{3} \cdot \frac{1$$